Clamp & Hardware Placement Guide for P/N 5780

8 x 30mm Button Head Bolt
2x 8mm Flat Washers
8mm Nylock Nut

7/8” Clamp >~ 7/8” Clamp
8 x 20mm Button Head Bolt b e 8 x 20mm Button Head Bolt
8mm Flat Washer 8mm Flat Washer
Install this plate last
1 1/8” Clamp
8 x 30mm Button Head Bolt
— 8mm Flat Washer

8 x 55mm Button Head Bolt
2x 8mm Flat Washer
8mm Nylock Nut

Install this plate 2nd

1 1/8” Clamp
8 x 20mm Button Head Bolt
8mm Flat Washer

b

.

/
i 1 1/8” Clamp
7/8” Clamp 8 x 30mm Button Head Bolt ~ 7/8” Clamp
8 x 20mm Button Head Bolt 8mm Flat Washer 8 x 20mm Button Head Bolt
8mm Flat Washer 8mm Flat Washer
I ,
= = nstall this plate 1st 7

N

1” Clamp
6 x 30mm Button Head Bolt 8 x 20mm Button Head Bolt 6 X 30mm Button Head Bolt
6mm HD Flat Washer 8mm Flat Washer 6mm HD Flat Washer

o




